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INSTRUCTIONS

1.

2.

This paper consists of 2 questions. Answer all questions.

The question paper consists of 8 pages and an addendum of 7 pages.

Use the mark scheme as a guide for the length of your answers.

Refer to the correct resources in the addendum when answering the
questions.

Write neatly and legibly.

Use a black or blue pen. No neon colours to be used.

Number your answers correctly according to the numbering system used in

this paper.
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QUESTION 1

Choose the term from Column B that matches the description from Column A. Write

only the letter of the correct answer from Column B.

COLUMN A COLUNN B
1.1.1 An example of a feature formed by A. 22 December
inclined strata. B. Convection
1.1.2 A force causing air to move. C. Homoclinal Ridge
1.1.3 Slowest form of mass movement. D. Lopolith
1.1.4 Heated air travelling upwards. E. Equinox
1.1.5 Saucer shaped igneous intrusion. F. Pressure gradient
1.1.6 When day and night are of equal length. G. Laccolith
1.1.7 Northern Hemispheres Summer Solstice H. Soil creep
1.1.8 Rainwater flowing on the surface of the I. Sheet wash
earth. J. 21 June
1.1.9 A large region with a particular climate and K. Scarp
vegetation. L. Sill
1.1.10 A horizontal igneous intrusion of rocks. M. Biome

1.2

o]

State whether the following statements are True or False.
1.2.1 Winter Monsoons results in dry drought conditions.
1.2.2 Coriolis force oceurs at the equator.

1.2.3 Cold air holds more water vapour than warm air.
1.2.4 Mediterranean climates experience winter rainfall.

1.2.5-The ITCZ is associated-with Divergence. ~— — -~ — ——— - .
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1.3 Refer to Figure 1 and answer the questions.,

1.4

1.3.1 What is the name of winds that converge at A?
1.3.2 s the 0° latitude a low or high pressure belt?
1.3.3 Give the name of the boundary at 60° where 2 air masses meet.
1.3.4 Give a reason for the rising of air at :
1.34.1 0°
1.3.4.2 60°
1.3.5 .
1.3.5.1 State the name of pressure belt C.
1.3.5.2 Deserts are common at the 30° N/S. Provide a reason
for this occurrence.
1.3.6 The wind label X is the (North East Trades / South East Trades).
Choose the correct answer.

Read Source (Figure 2) and answer the questions.
1.4.1 What is a Féhn wind?
1.4.2 South Africa’s example of Féhn winds are berg winds. Describe
what happens to temperatures when the Berg winds occur.
1.4.3 Explain why the temperature changed so much.
1.4.4 Describe the type of weather that usually follows a Berg wind.
1.4.5 State the rate at which air changes temperature during its decent.
146 .
1.4.6.1 Imagine that you are a farmer living in this area.
Why would you be concerned during Berg wind
conditions?
1.4.6.2 Suggest 2 ways in which you would prepare for the
effects mentioned in (answer to 1.4.6.1).

P.ro Pﬁ] 4 1-5. RQLP&«"’

[15]

[2]

[2X2]

[15]
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Refer to the synoptic map (Figure 3) and answer the question below.
1.5.1 What season is represented on this map? Give a reason for

your answer. [1+2]
1.5.2 Provide labels for the following : D, A, B. [2X3]
1.5.3 Give the pressure reading at G. [2]

1.5.4 Will the winds be stronger at E or F? Provide a reason for your

answer. [1+2]
1.5.5 What form of precipitation is taking place at H (Port Elizabeth)? [2]
1.5.6 Explain why it will be dangerous for ships in the vicinity of E. |

(2 points). - [2X2]

[20]

Refer to Figure 4 illustrating the 4 elements of a typical slope and answer the
questions that follow. '

1.6.1 Name the slopes element labelled A, B, D. [3X2]
1.6.2 Describe the shape of slope element.

A~

B - [2+2]
1.6.3 Name the slope element where rock falls are likely to occur. [1]
1.6.4 Explain why slope C is also known as the scree slope. [2]
1.6.5 Explain the term scarp retreat. [2]
1.6.6 Identify the slope element that would be most suitable for farming

and provide 2 reasons to support your answer. [1+2X2]

{20]

Refer to the Article (Figure 5).

1.7.1 Name the underlying igneous intrusion from which this landform

developed. : [1]
 1.7.2 With reference to Weathering, explain why this landform takes a
rounded shape. [2]
1.7.3 Explain how this feature gets its name ‘Paarl Rock’. [2]
1.7.4 Give 2 ways in which this feature has benefitted humans. [2X2]
[9]
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Refer to the diagram featuring a Karoo Landscape (Figure 6).

1.8.1

1.8.2
1.8.3
1.8.4
1.8.5
1.8.6

Name the type of Rock strata that the above landscape is

associated with. [1]
Name the landforms A, B, C, D. [4]
Describe the main difference between landforms B and D. [2X2]
Explain why the height of the landforms remain the same. [2]
Canyons are found in Karoo landscapes. What is a canyon? [2]
Provide a detailed description of how the features changed, over

a million years from A to D. [4X2]

[21]

SUB-TOTAL : [115]
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QUESTION 2

2.1

2.2

2.3

Choose the correct word / phrase from the list below which matches the

description given.

geostrophic wind;  desertification; isotherms; coriolis force;

monsoon winds; isobars; divergence; convergence

2.1.1
2.1.2
2.1.3
214
2.1.5

Arable land that cannot be used due to loss of fertility.
Determines the spéed of the wind. |

Winds that blow parallel to the Isobars.

Lines on a synoptic map that join places of equal pressure.
Movement of air away from a High Pressure zone.

[5]

Select the correct word within brackets. Write only the answer next to

the number."

2.2.1
2.2.2
2.2.3
2.24

2.2.5

Exfoliation is a type of (mass movement / weathering).

A vertical intrusion of igneous rock (sill / dyke).

Water passes through rock (permeable / impermeable).

A very steep mountainous regidn in South Africa which separates
the coast plain and the interior (escarpment / plateau).

Resistant rock is termed (cap rock / soft rock).

51

Study the Cartoon on Drought (Figure 7) and answer the questions that foliow.

231

2.3.2
2.3.3

Define the term ‘drought’.

]2

[

State 2 climatic factors that rnay result in drought conditions. [2X2]
Describe the impacts of drought on the :

2.3.3.1  Economy ~ [2X2]
2.3.3.2  Environment [2X2]

P.T0. [)q 7 2.3 Why
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2.3.4 Why are less economically developed countries more vulnerable

to drought than more economically developed countries? [2X2]
2.3.5 Write a paragraph in which you explain sustainable strategies

that can be implemented to manage the impact of drought

effectively. [3X2]

[24]

Refer to the diagram showing Ocean Currents (Figure 8).
2.4.1 Name 3 ocean currents which are formed when the west wind

drift reaches a continent. [3]
2.4.2 Why are these currents (answer 2.4.1) cold? [2]
2.4.3 Name the current that passes the East Coast of Southern Africa.  [2]
2.4.4 Outline the importance of the North Atlantic drift to countries

such as Scotland & Norway. [2X2]

[11]

Refer to the diagram on the EI Nino Effect (Figure 9).
2.5.1 What is the term given for the normal pattern of air movement
where trade winds move from East to West? [2]

2.5.2 Explain your understanding of :

a) ElNino [2]

b) La Nina [2]
2.5.3 Between which years were the wettest season experienced. [2
2.5.4 Which was the driest year? , [2
2.5.5 Between which years was the greatest normality? [2
2.5.6 Why do you think it is important for governments of the world to

keep records of weather phenomenons and study the graphical

representation like the one in Figure 97 [2X2]

[16]
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Read the Article (Figure 10) on Mass Movement and answer the questions.

2.6.1 Explain the term Mass Movement. [2]
2.6.2 Mention 2 examples of Mass Movement that occurs along
Chapman’s Peak Drive. [2]
2.6.3 Suggest 2 reasons why rock falls have been a hazard along
Chapman’s Peak Drive. [2X2]
2.6.4 Describe 2 strategies which have been adopted to prevent
rocks from reaching"the road. [2X2]
2.6.5 Discuss the important role the weather bureau plays in rock fall
management. [2]
2.6.6 Explain how the closure of the road impacts the Tourism Industry. [2]
2.6.7 Discuss how the following factors affect the stability of the slope. ( )
a) Vegetation cover
b) Rock permeability [2X2] |
[20]

Refer to the Sketch (Figure 11) showing a Landform.
2.7.1 Does this sketch represent a Cuesta dome or a Cuesta basin?

Give a reason to support your answer. ‘ [3]
2.7.2 Describe the rock structure that has formed this landscape. [2]
2.7.3 Give the correct term for the fold structure at A, 2]
2.7.4 Give 2 possible causes of the upward fold / uplift at A. [2X2]
2.7.5 Name and describe the slope labelled X and Y. [2+2] (
2.7.6 Discuss how humans can use Cuestas o benefit them., [2X2]
[19]

Refer to Figure 12 showing the formation of a Feature in jointed igneous rock.

2.8.1 ldentify the feature being shown. [2]
2.8.2 Briefly explain the formation-of this feature. —— — — [3X2] ————
2.8.3 Provide a label for A on the diagram. [2]
[10]
SUB-TOTAL : [110] GREENBURY SECONDARY SCH(
DEPARTMENT OF HSS
H.0.D. MR D RAMASAMI
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FIGURE 5

The Paarl batholith

Paarlberg in the Western Capeis an . -
excellent example of a granite dome or" 1.
batholith which has been exposed by - .-
weathering. Figure 3.23(a) is a photo of .-
Paarl Rock (Paarlrots) ~ the top of this -
batholith found near the town of Paarl.
Paarl is the Afrikaans word for ‘pearl’. .
Paarl Rock is made up of white granite that -
reflects sunlight like a pearl. It is possible... -
to walk up this rock with the aid of a hand-. -
held rope. On a clear day, you can see Table
Mountain in Cape Town from the top of
“Paarl Rock. On the lower slopes of the
Paarl batholith, vineyards are cultivated;
but the upper slopes are difficult to reach
and to farm. Dams have been built on the
top of this batholith as it is easy to tap -~
water and to release it down the mountain-
by means of gravity. e '

Galday

. “FPaarl Rock
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FIGURE 10

o ;o
Figure 3. 84 chovatlon to Chapman‘s Peak Drive m(,ludes
catch fences and concrete canopies.

the area experienced heavy rain and poor weather

Assurances were given that there would be as
little disturbance as possible and that, although
alien vegetation would be cleared, the natural
fynbos would be conserved. Studies showed that
the construction would not interrupt the natural
drainage systems, but that the quantity and quality
of the storm water runoff would be affected. Surface |
flow would increase due to the impermeable
surfaces and there would be pollution of the water
from the petrol and diesel on the road, Increased
erosion in areas where the vegetation had been
disturbed would lead to more sediment in the water,
It was decided to construct drainage routes to
direct storm water into channels,

Soon after the road was re-opened, two large
boulders fell, but did not reach the road due to
the concrete canopy. During July and August 2004,

conditions. The intensive rain activated alarms in
the central control room and the road was closed
to traffic, Allhough some rockfalls have occurred
which have damaged some of the catch fences,
thousands of falling rocks have been intercepted
which would otherwise have reached the road. -

6lPage







}M@ma - GL’-N Gga;:? .

o
(i ¢ 114 - E.
il.2 F- o L7 J :
s oH s T
Ly B g g M
s D ,,_p.ib. L
(200 Tcue
[ /jc:) LS(%
2.3 False
2.4 True

[-2.5" | {:041‘&@/‘

Tf 0/9 rcal Ecz § “lt’e’.. /y&f‘

[3

|82, L(scu

l$$ p(ﬁ/u,/ f/on/

[ 3. 4. due fo [) C{A ]’&MIO s l\é’,ﬁc/élc/ cmd Rised.

B2, 0 R air M&JJ&J Mb/ (,cu/d als masS un(/@f&d

v’ ™ a,/ cmc?( ﬁmfw ;/ /c) r8e

[ 3.8 .1, Sué) }rcsuuﬂﬂ/ qu)

(3, D e Fo &}a{o(e, quc fmu’/ /thwﬂ@,/

MJ"QLQC/‘ ne G/ CtL//Q/)/J o) g%qo&f

@/(’C) mzdf :ﬂma_ﬂ f ,fw'wﬁmq 1 d’/ti C(MC/ //CMJ/

[l Ram W

[

A

Soulh Fasl Toadis.




v SO

(z\jc e Ciﬁ\/ cmocﬂ‘

R
i 42 . TCféLQJLJ /e.mpu&/u«'e
4.3 As  a mass 6l air descendd ,v.f~ feats
up _adabatrcall / | -
AS o mass obNMais descends f encountecs
19 Creading a/ma/@&zw’c /ﬁregmufc,) ﬂ?d‘"‘//"’)/
. fa an iaCrease io [lemperatuca
L 44 ICONC‘(\J(,, ¢/ A&f - CQ[O[ﬁfdv”)/ é)raaqw"u?/
colel | OM@éJQ/MfM /Aacom CZN//J‘“’/
[ 4, 5 1%/ 166 m . | o (
4 6.l Buq Mmcﬁs e"e,kgu” i Uedd Lrres Thed
A\MM/ $pread qu«ck/tq >dla,(yf//m1 Lairma |
Lokt b2 u(&a, »fe brocks . /cdazanfm.Jc_/w /acﬂ/écsaﬁ/u
- Fire. (_,,}cf,r)qhtldlle/\’\ &Qd:ltl QCCC?dJ/é@
- l@j%;f}c%‘m T (,ja,/ 0. /U/ om,ggb (j/,a,,;«fj, e f d"/)
ey Autamn | |
DC} Q. QS/\,CMJ\Y H\QM Jé{,@d@”') (Jﬁ)f:’f'"/) ,
Jo§ 2 0 - Sgu,/% thmfnc, H(;‘% i
AT Cc» C/"Ff@@-:’% S \J
IS8 .,:@fé; mb . ’
[ | S}Q,C/O ’p/@m"ufe c;/ew? e . /jcpaéq,@”
N S 2 5J,M<; wadr
[ S S8 EC@/Q ' )
7,5’"7@3 e Ls/”rcmc/ f,uf")cfd' - f&s‘u,///oc 9 C_/w a/ deca.

t’lt& Qq,f) e /J b, 'UI/'T M/// éé&/)@eﬂf\,




- C)/t»",cS“?I :

g f"/ A. ‘
| O - p@,c/z‘mﬁ/)'f'
.2 /»»1\ -~ Conperx.
t » - Sesteele
[[6:3 ChPF-
t&’.} 4 (ﬂn 8 J/ d‘ﬁ //L/é,a//\a./af/ /Qc,«cLJ C”MC?/ éﬂ'u /d@u l
§c<2i‘fp as a ,,,M},__,/;IJ dﬁ' ,@/’@W‘(z’({),
6.4 /)u/rmm}/O
g s e [Q;f /f" /’ @/ /OHZ»’)/{Q, /CV?C/“”
3 — (0 /),3#/ AJ dﬂﬁf}e,/J/éL dd:}‘
i) N gét/éd//é :
: 1o 12, fxp@feﬂ m//u«//c)oJ Qe d‘ué/QL/
1/(.) - Wea //LQJ/")C}' V)clma//é/ é',y‘//)/ /rc?*) é’mc/
Erog 70N &J/) M; q/c_/&j“/// /d /aw)c@_dwécgpu
LR M oo a}p Ih, fe g /czam/éi’, ock. méc/y
f@,,p/e(,/d J‘W)/ql) +- /l’\e}/d( Pf?c’l/ ( [’c&c‘u
‘ ' If’t LCLCU’NJ) W
| Tz = /OGJ@/' « /'f'fjﬂw ucreé/ /Z:w [gvm.«oq (wm/a/c/d\

col b \/G/L&d)

._....' O&Md but// on /LQ, !’CWD/@QJL[ /‘O /“‘2/'7

L2 /—ezo", f, release clme_m(a /)




[-§ /f-em“am,/-a/ 5&0?('”%0/&“1 ﬂOCL el
Ly A - Plc‘lea”' Y B
b~ Mesq -~
¢ - Canreal L1 -
p - Pulle o -~
iy Mesa gee - hos  a wides / / %’-}e} w ey
@ w !’ (' 2 . N as S eel Lq, / | ﬁ.c&. f»/«@@;mf wed 1
+ hen tlo bt
v g Teps ace  coueed IM a- prolect e doler e |

f y L
)CU,M,/ (,5,”) (JL»\—-C,(« Y re,d‘ "d/éw/ fo Ecovr Oy -

KH{Q/VLO/Q. ML«C'('\« {&fwék ’ ﬂﬂ_ "H-(L b&w"’-m //

Cﬁx §<@| oS ak dbza,p ks’qleap,, S‘/ﬁ[&d ua. /Zb]j F7RY, f /)

LJ .,
NG r 0 Y cu”gq Ff dor.y L L// 2.

L/

e A vrive,  caiues “/5 é,cbu/;j‘o qa«a&f‘ @ plf-a/mé‘.cm['
4

a ‘“"“""Qﬂ (3(;) £ wa§ Q ( oA

fju/ {L’L e.c ﬂ_dh*m - NTL'L J c’!flqg al> 4’(&

)
ARk

pl ZL,C'L\-/I f(?,,,ju[/d ) (‘J(QU (3/ MLA“C? 4

= froegren ol He &/opeu» ol Jlo Mecq

;’Q,ngl}") /(_Q_ fd/mﬂ:[rﬂr’) mp a, guHQ ~

L\J(Aew e Lwaﬁ olales 6f/ (f“[’ /'C"«LJ y

I ,,I’LCLJ,, éQ,Q 0 - Qf,@{,&d sk i /”],, (—(SV\( (c»w/ L M IMVI’LJ)




iaJm;‘,'C;mw/ﬂ Foren .

Lo Ceeshephe ind.

R q. 4l %aéryd

|25 D UWQMCQ»» ) i

o

Rl (’\J.f?«»ﬂl.f'éﬁf’w’"»h'?f,cil" > T a

Nod

222, olyke - T f

Y
2R3 /91‘.657"@%‘?7&4/;[&”' ‘ . o . n
2\'2"# . egca. /Dmo/‘ e

gl .:z“u)‘ C&/C«)/c‘) Q.JI/L Pt e A . w:l

ReB A ,@a e//e:m&?}ud pmxz(ﬂ:/ ey féawf r@am/&//‘ - ':

Q/

e q M@ws/ @& CZ/ mq/w?é’ : CJA /Qcamﬁ://

| i // ;//7 @ 6”/4) mm/@w : a/éd7 S /’é/&%"‘@?

Fo fle amount of Lamfayy

- F/mvﬂ agmnd La ,/Uf‘*?ﬁ*’z C’?’?‘“?ﬁff/"f”9J~,

- P e vio . ¢ < A.a;;zﬁ@\»/? /' 6CLen /ﬁm)/f—’) » ya

2830 Econamy = loss oF chy [unenployney./
. /
~ /ﬂwuaw/ of ~

- {fo, LA D mu;@m(je [::md & A‘W /?«&}'QJJ /n<’xdad€f/£m¢'

(2 o
~ P’ icoy -

ia(ya/ oMM Suﬁ&u ;MMW m ow)l/;v/o,u)

ejﬁ,l»e_kmafahdw d-ﬁ /ld(?d/ﬂd[,éd%/

—_ deud f‘f;@q‘gc.z,/’/gf , ['a ) {f:)/dd’uc{[ :

- ﬁl)«:,cw &c‘;d*@i (n  @xpds 710

| 2 se.2, Fwsieorent — less g2 & wsate. .

_,..~ff;,,w,‘¢,«f&“@_ s ocdeed |




~Increade .-m'd“cz// contentin "bj@'

- ) Qe Q- LJQ,[C?(¢,,/£Qr d?/‘-l d‘%@zl&%mg)

o ’/op Jo: maézal bq wmdw

dzﬁ [Licateer,

UCLLU’&, /\d(t) / ‘S (/(chf’(/@c/f(ﬁ

&LS 4 - Ccuﬂ/‘)C}/ ap/’arol bo Lur/C//\)ad‘éwJW@ s
- /906' Pf @,/"Cvﬂ/fﬂf') (‘_; m,an%m««ﬁ‘)/ Aa:f)mq/ww / Jacl
LO 14 IL&/M /OZ&."’)V) '9/6/ . ' . ‘
= act of éﬁ ! &ﬂadaur@d‘ /},. Doy /fé/(%f’iep’ ,
sehomeys =~ Rolg Loovrly on Dbl o
- ”'C”P&Vi‘“i D{D/au/[(}f - @,«M/é/ Mﬁ,mmd pcw waler
) .
2,397 - C@/[e. cFion. of ﬁam/&// /a :vwov/:c aﬂa/ﬁz - M/,‘_-/»/
Mwmmf &e/J/aw | v
o Ca’ /7//0/ /}ch/acL o’lufwl"eﬂ*J pxﬁuw/ QUe Qs a2 ,mg
- /cw)j Mrout///’ &w&/mv/ Ca,a.s v
- A‘“" “"“/ f/zcvv\»d /&Juzoﬁ/fq /:a/ . S anl :
. U ‘iwz/ MQLS /au,cw ‘ ~
ra C@/ L»Mc}«w) (
. 0 L’E{SG’/ M,e/” (O9)J a[* (jea (U o/e/ w
2.a ! f)c,./;;” Cluwfl&/l/
BQ,M,M,// a Cuy _/aa f |
U ﬂpug‘j e,/f“w) uf/é/)/
N P - — O/pc Ma/@. (pf@m”*ffée/ @J&Q/ A ’qu/ —
o ,f ﬂw L0 may pfam o CLdJ/C/ @
(C’c»'wﬂ\ /“ZQ
9, Z;-J = /,) 01 o /Aug | cuy/u/




(r/
/\f«:r"/é a«'//aw/c, c"j/zp/ T oa &M CDCLCU’) (/LW' a/)//i

- Ry, /%a\; q Wd e VM;/ e—pfﬂc‘/ on //-e _L»/Mﬂ/d cﬁ’ﬁ

Uﬁ««f L‘Uw qua,o e wA ch. S o /['y 2o J-fe.wg,lc./ .

| NM ., | \/ N

L, /lxow[ f’/&_ wa/mwu/ a,lﬁ/eé/* wew/O/ é)u /’/@/@S’d’

— N"‘*‘j’f‘g , uo.,clut,ilé’é’(‘z"f‘_ can ,L_Q,‘if‘ﬁ"@”?s ‘F",//." e

ﬁu\,\,p o & /fuwt?,,(:)j‘ l\.««ebC;’LQ/' Ztr/fll-e,/u é’&/ 71&_ Cu f"anMa["‘

2.8 e

Ud”(e_us CAIQCL/Cvl[/é’) -

T e Y Sy
S [),/,w ﬂmm r\.e/m-ﬂ/ Condle /,qu
!?) La MNong .~ (em(fu ﬂwn /\jaxmtr/JM J’cu’[Z:UL /em/m/
Ud//fyl‘@ﬁ (L/um ma/w’tc”/ c,amc//’d«oJ '
2.5 3 s - 1950
25 4. 1956
2.9 97 dg2- 194 | '
2.8 ks el 6’LW¢1:1 /em—el’b - FMM (,Jo_m Mﬂ] ‘sw./gf’lé,Mc)
-{ ) / cL/ UM engfets Fp/aw e ﬁ/a @
2.6, | f(’_ﬂ,,pt?_wd /w 7‘/‘.&_,, c:/owowwc.‘/ Mdm,ww/ cwf
I e CL//WQ o ma/e,mcfe/ undor tha mp/umcﬁ, 4/’<:Vcw, /7
T R kPl Mudehdes
2.6 % calch f@omu Cencrefe Cma/;/m
263" caqge “v.&(td ace rolont /afeaﬂ)
” (e d”u// ‘9 /aczc/ CIaS’qu |
268 }-- Wa,m f/\z é)u e can. ,[z:s/e,c:,am[ wea//)er' f‘sl

. MI ’U\S "

L.fz, QU/‘" v amd" S 7L/o m?e - Mlc’ucm/

df?ﬂ/p{ m EO/ MLC} - @%wGJ“jm é;'ctfxme?cihr J("v'l/d‘uz «')/

ﬂ"&tauﬁ-lltuww Can éH? ,lC‘»AQn




:2;-«@%1"1
2, (,Jy ?ra(? ra Jouri§e - Touwdil Cuf:\f accedj
' ,eaoq o Moml Scon,C reacol A /[g, (cp‘Q”
2.6 F a\‘) V) Ul@[ww.f—( 6N Couvls 1"-«-’ Uaﬂe}o/«m ‘aﬂ_ cho s
g (J " i \ 4
£’0¢ c,SQ.O?M—') W 31 l:ifpéjuj/cp}w /n/clc,/ o
/(.m_s uu,, Q/LCJNM s /L;cifiﬁ'g /{Q o zdé Mpé’/e» @,
l“ﬁ»L LLMQL
k’»‘s pac.,,la pas Mﬂjﬂ t ! ) e | |
e w
N Paréué 'fr:)(.//c» ;&JQ(L&JGMCS pL,Mcxé)/l/‘i (/)
5@ { é)a cc,uwﬂ..,.J {ch,/mrcn/e,df /&cuUﬁ %
FQ(J“// N "fJA C’oﬂ /waJJ W—ﬁu@«frﬁ--@/"“"l//*
R.. 71 CM— egla  dome - = Scop J°Z‘3P<i Faces 10 wardS
2.2 /")C,/"\»Q,.C/ J’e_”(/f/ /\A..Q_/"‘)Aa» Y /@,c,,é; .
L2713 /\’\/*r’@/’”-ﬂ»- o - ,.
2. 7 4. _ Teclen.c Pl oS eg fﬂb&/jlz}j | ﬁald{i‘]
’"“ "M G QIM(L //)//LJ.J/G/},J %e»’/"ﬂd&f) /6'-)—1@./’(!“ (Fﬁ\'
ggcﬁ?’ et Feg (o&ka - (.
2.9.5" ~ Dip. Y genfle (g/a/uc, |
) e fca’p o 'a.(‘/&&p j/aﬁ’e,
2.7 - So st ol paffa//e,qm- vam/g“

- Jour oL VAN “(Sa” s 5"-‘»/'/ GZCYWW

-— ‘_S’ef,u,"‘ ‘ p/fffcm/)d cdé/éf pc. /‘m.q,rtf f«fwi/h/m?uﬁwm%

e xw»de,»f'(/(ow_a_m L )La»é/ LI‘LM/ S




(;/ /

puinf

Tﬁ P

— c?lcu,-«?d eI e [~E, S(&(’,/Qf "”/O /Oo”?/\f
v y s 7N

: f‘};{n d era C/CIJ

Deroun d e a_/:aj ‘a/,'q‘x}a /U'@J“ “) 1e 6 /f e

Gl .
/& grant /ﬁ - Che-m f'C‘”/aJ@.‘Q //_Ad,// '}-;c;'

Mmore /(//Iég.w"’)%tf é &/QC/CMS"_ appeas - ‘”@U?—}{/’b_‘?

rocks aro vemped [y weallasing MY

o

Q,./‘CJLS 130N . ey PO ¢ k#/ma, S [6"Mf$ %”'l / {Q«
f
Saur L\& ¢ - v

2%

w2y

)

_Coce Glones-

»»»»»»

i |







